R3.1 R32 |R33 |R34 |R35 |R36 |R37 |R38 |R39 |R3.10 |R3.11 [R3.12 izl
1 BEIAR, A /SR (B -BR 2 2 1 1 1 2 1 2 10
TEENAR, A 7 SR AT (B ) 2 3 5 3 2 3 8 2 9 5 7 49
2 RBREFH(FER. FRRE) -Z2 2 1 1 4
FIEAEFiT (FEMR. FRBE) 2 7 4 7 6 5 6 5 8 5 8 6 69
3 REARFH (RENIRE . ABHARAREE) - B2 12 10 8 6 5 3 5 2 4 17 6 17 95
RENRF 7 (RENARE . REDARARBE) 4 2 2 1 4 1 5 3 3 5 4 34
4 TOMBALMT- B2 1 1 1 3 1 7
Z DAL 1 1 2
RAGE| 12 13 9 8 7 5 6 2 6 20 8 20 116
FRESET 6 11 9 12 10 11 10 18 13 18 19 17 154
it 18 24 18 20 17 16 16 20 9 38 27 37 270
AAA 1 1 4 1 3 1 3 1 2 5 2 3 27
5 RHEMEZ D (BRKBEL) 8 6 5 4 4 1 2 1 5 5 5 7 53
6 TRRERARE 2 1 2 3 5 3 7 1 8 32
7 ATUN ST A& 1 6 5 3 6 6 6 4 3 5 7 6 58
it 11 13 12 10 15 10 15 6 8 10 12 21 143
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